CSE 326 Reading Quiz

Name: ______________________ Score: ____

Monday 08/07/00

1. Weiss asks “Is it possible to have your C++ compiler have an extra feature that only not only detects syntax errors but also all infinite loops?”  Yes or no.

2. Choose the correct statement:

“An NP-complete problem has the property than any problem in NP can be polynomially reduced to it.”

OR

“An NP problem has the property than any problem in NP-complete can be polynomially reduced to it.”

3. The term “greedy” algorithm refers to (pick one)


an algorithm which is correct, but costly and slow to run


an algorithm which must be fed large amounts of data in order to operate


an algorithm which always chooses the local optimum

4-5.  Give a (single-processor) schedule for the following 3 jobs (any schedule will do, it doesn’t have to be optimal).  Then compute the mean completion time of the schedule.

j1, time 15

j2, time 8

j3, time 3

6. Huffman codes are an example of (pick one)


file compression


character sorting


use of heaps stacks

7. Given the following items, show a possible bin packing for them (all bins have unit capacity).

s1, 0.2

s2, 0.7

s3, 0.5

